Antenna

Pole (Not included)

N Female Connector

M8 U Bolt

Clamp

Antenna Mounting Plate

Pole Mounting Plate

M5 x 16mm Machine Screw (x2)
M5 X 10mm OD Flat Washer (X2)
0 = M5 x 8mm OD Lock Washer (x2)
11 = Nut (x2)

12 = M5 x 6mm Machine Screw (x2)
13 = Washer Nut (x2)

2 OONOOOP,WN -

Note:
1.25" Dia Min.
2.00" Dia Max.




